Key Stage 2 National Curriculum Tests - Practice Paper - Arithmetic
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1| 908 + 100 =
2| 256 x 2 =
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6| 108 + 9 =
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14| 40,000 - 300 =
15| 100 x 10 =
16| 960 = 8 =
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18| 121  x 3 =
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9 9
20| 8372 + 3918 =
21| 1,050 < 5
22| 13 - 593 =
23 23
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24| 141 - 588 =
25 5 3,215
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27| 85% of 240 =
28| 423,455 - 43,772 =
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Answers
1 1,008
2 512
3 2.7
4 87
5| 8,801
6 12
7 319
8| 4.35
9 42
10 5/8
11 70
12 203
13 49
14| 39,700
15| 1,000
16 120
17 480
18 3.63
19 7/9
20| 12,290
21 210
22 7.07
23| 1,081 Long multiplication method required
24| 8.22
25 643 Long division, method required
26| 1/15
27 204
28| 379,683
29| 15,167 Long multiplication method required
30, 19.5 Preferably written as a mixed number, rather than a decimal
31 2
32 1/13
33 7/9 or equivalent
34 56 Long division, method required
35 11/12
36 7/18 or equivalent
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